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I 17’s dictum and the analysis: anywhere the n1n states N n and npn — it is 29yn (all details are indispensible)
a  assumption: he means if it states both — per v. 1
i challenge: 1 states NN (P10 NN NRT) — but not NN, yet nann is 2oyn
1 answer: since it states (1 NN YY) WY’ 13, tantamount to NpIN being written
ii  challenge: nTn only states NN — yet the 4 species of loaves are all indispensible
1 answer: per v. 2, which alludes to 1 "m%w, nTin and 7’11 are compared
iii ~ challenge: y11¥n never invokes npn, yet all 4 species (cedar, hyssop, string, birds) are 20yn
1 answer: v. 3 uses ’nn — must be as presented
iv  challenge: 5"nv only uses npn, yet the 2 1yw are 20yn each other
b conclusion: he meant either NN or NpIN
i challenge: all mia9p, which fall under the rubric of "Mn (e.g. "M NMIN), yet many components aren’t 1oyn
1 answer: it it states n7n, still requires npIN; but npIn alone is sufficient to generate indispensability
2 challenge: he stated “npym nn”
(a) answer: he meant - if it states nn still needs npIN; not the inverse
ii  challenge: MM invoke npn (v. 4) yet 21 requires repetition to generate 112’y in any nnin-related laws
1 answer: pn (v. 4) is in re: eating of nnin, not offering
2 challenge: man ony, which invoke pn in re: eating (v. 5), yet all components are 210yn each other
3 rather: anytime it states pn in context of eating, it refers to entire offering;
(a) however: in the case of mnin, v. 6 focuses 212’y on flour and oil exclusively
II  Reassessing 17's statement that anything repeated in context of mnin is 23yn
a  Dissent: 5%1w — only 10wy w3 (flour and oil) are 20yn
b Challenge: doesn’t YR1mWw accept the principle that if it's repeated it is 20yn?
i Rather: they disagree about the restriction against using a measure for the ymp (Y2mpa vs. 1¥mp Ron)
1 27 thisis also repeated, per v. 7
2 Swipw we can’t infer permanent law from nyw nrNN (YN DY)
3 Challenge: 9w infers rule that mApm are w1pn dry (flour) from v. 8 (nyw)
(a) Answer: since that is repeated 12 times (for each ®w1) — we can infer from it
¢ Challenge (sox "17 82715 “7): NWAN is repeated (v. 9) yet it isn’t 20yn (per our Nwn)
i Answer (37): that verse is used to determine the location of nwin — SW corner ('n »19%: W; narmn na 9x: S)
1 Note: "1 maintains that it must be on the south side
(a) Reason: he holds that the entire narm was in the north - facing w1> (S) was also facing nna (W)
d  Challenge (817 77): non, which is not repeated, is 20yn, per n1n’ "1 and " (vv. 10-11)
i Answer (907 37): 21 holds like our Rin - salting is dispensible
1 Challenge (7ax): then px> ®Y should be 595 px’ RY — but we already established that it means 113 px> X5
2 Defense: nnoon couldn’t be done by a 9t — he can’t approach the namn
ii  Alternatively: since it invokes n»a (v. 10), it is as if repeated
1 Challenge: isn’t nmin overtly repeated (v. 12)

2 Answer: that verse is needed to limit nm%n to 1297 (not ™ WY — which aren’t accompanied by anything else; or
the ©»9w - which are not a 129p) and to extend to n112% (which comes in the same »93) and to all (e.g. DR etc.)
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